
 

 
 RCI 2024+ LC250 Roof Rack Installation Guide 

 

 



 



 

INSTALLATION STEPS: 
**Use hand tools, impact wrenches may cause damage if over torqued** 

1)​ Begin by unpacking and removing all components and hardware. Please verify that all 
hardware and mounting components are present. Reference your original order invoice and 
verify all items are accounted for.  
 

2)​ Remove OEM roof rack from the vehicle if applicable.  
 

3)​ Remove the six plastic caps covering the mounting locations on the roof. 

 



 

 
4)​ Remove the factory bolts and clip retailers.   

 
5)​ Collect the six rubber bases with two mounting holes and place them over the holes on the 

roof as depicted below. 

 



 
6)​ Collect the six roof rack mounting bases along with twelve (12) M8 x 50mm bolts, twelve (12) 

bonded rubber washers, and twelve (12) ⅜ x 1.25 carriage bolts. 
7)​ Place the mounting base onto the rubber pad with the carriage bolts installed. Make sure that 

the threads are facing up. 
8)​ Secure the base by threading the M8 bolt with bonded washers into the mounting holes. 

Reference the figures below. 

   

 



 

 

9)​ Repeat the process for all 6 mounting locations on the roof.  
a.​ Torque all M8 hardware to 60in-lb.  

 

10)​ Install the six (6) steel mounting feet on the mounting base. Loosely secure them with the ⅜” 
hardware.  

a.​ Ensure that the holes are facing the outside of the vehicle. ​
 

 



 

 

11)​ Repeat this process for all 6 mounting locations  

​
 

12)​ Collect the Driver side panel with six (6) 5/16” black carriage bolts and the corresponding 
black washers and lock nuts.  
 

13)​Hold the side panel in place and install the carriage bolts into the side panel with the head of 
the carriage bolt facing outwards.  
 

14)​Loosely install the washer and nut on the back side.  
 

15)​Repeat this for all six rear most mounting holes  



 

​  

16)​ Fully tighten the six 5/16” carriage bolts.  

 

17)​ Repeat this process on the Passenger side of the vehicle. 

 

18)​ Once both side panels are installed, collect one aluminum extrusion cross bar along with four 
(4) ¼” button head bolts with four (4) ¼” black washers.  

 

19)​ Hold the cross bar into place and thread the button head bolt with a washer into the tapped 
holes on the extrusion. Begin on the rear of the rack and use the 1” slots for mounting. 

a.​ NOTE: RCI recommends placing a blanket on the opposite side of the roof to rest the 
extrusion on to prevent damaging the paint.  



 

​ ​ ​  

20)​ Move to the other side of the rack and secure the cross bar into place. 

 

21)​ Repeat this process until all 8 cross bars are installed on the rack. 



 

 

22)​ Make sure the rack is perfectly centered on the vehicle and fully tighten the ⅜” hardware on 
the mounting feet. Twelve carriage bolts in total.  

 

23)​ Collect the rear faring along with four (4) ¼” button head bolts, eight (8) ¼” black washers, 
and four (4) ¼” keps nuts.  

24)​ Install the rear fairing as depicted below.  



 

 

25)​ Collect the front fairing and install the provided weather stripping along the bottom edge.  

 

 

 

26)​Collect four (4) ¼” button head bolts, eight (8) ¼” black washers, and four (4) ¼” keps nuts. 
Install the front fairing as depicted below.  



 

a.​ NOTE: When installing the front fairing, it is designed to bow towards the front of the 
truck. It is IMPORTANT to push the front fairing as far down as possible. It should be 
touching the roof of your truck. 

 

27)​ Collect one (1) adjustable mounting foot, one (1) adhesive rubber pad, and two (2) 5/16” black 
carriage bolts with washers and nuts.  

 

28)​ Install the rubber pad on the base of the mounting foot and install it as depicted below. 



 

 

 



 

 

29)​ Pull up on the front of the rack while pushing down on the mounting foot and fully tighten the 
5/16” hardware.  
 

30)​ Repeat this process on the opposite side of the vehicle.  
 

31)​ Go through and ensure all hardware is fully tightened.  
 



 
 

Enjoy your new RCI protection! 
 

 

 

 

Share your new install with us on social media! 
We love seeing our products out in the wild! 

 

 

 

 

 

 

 

 

www.rcimetalworks.com 

sales@rcioffroad.com 

970-797-3089 

 

 

mailto:sales@rcioffroad.com

